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December-2018
M.Com.. Sem.-1
402 : Financial Management

Vime : 3 Hours) Max. Marks : 70

What is a financial management * Desenbe the managerial finance functions, 9

OR

-\

txplam the role of finance manager.

(H)  Attempt any two :
(1) Explain the objective of maximization of wealth.
(2)  Explain the modem concept of finance function.

(V) Explain the stages of evolution of financial management.

L7

() Answer the following :
(1)  How returm on investment is calculated ?
(2)  What s administrative finance tunction ?

(3)  List out the limitations of traditional approach of finance function.

(A) Explain the causes of financial risk and business risk.
OR

Equity shares of Y Itd. having market value of ¥ 25. Finance manager is expecting
growth rate of 10% per annum and dividend of ¥ 2=00 at the end of the year.
What is your expected rate of return if you buy the stock for 2507

4

(B) Attempt any two :

(1)  Explain the concept of time based value of money.

(2) Wnite short note . Bond Market

(3) Explain ‘H’ model for equity share valuation. 1
() Answer the following

(1) What is present value of an annuity ?

(2) What is market risk ? o

. e sent \;“luc ot bond.
(3) State the formula to determine presen o

5
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P’y (A) Cive the meating of working capital and diseiss 1| _ _
‘ we factors ol ;
capital requsrement allecting working

OR

The Guparat qade
! jarat company Lt decided 1o purchase o machine. The re
about this machine arc as follow : . The relevant data

Capnial investment T 3.00,000
Depreciation rate per year — 10%
Tax rate 50%

Expected retumn afi :
_ after chargin vati )
as follow - ging depreciation on the machine and other expenses is

chlr: I 5 ]’ 3 p { p

——— e

1,5¢ -
SU000 | 11.20.000 | 100,000 | 60,000 | 40,000

Present value of T at 10%, dise
i 1% discount rate are as follows :

' Year | 2 3 4 s

LPrcscnt value 0.909 (0.826 0.751 0.683 0.621
: R

Dctermine : (1) Pay-back period
(2) Net present value

(B) Attempt any two : 4
(1)  Explain the principle of optimization of working capital.

wod Apmgiere/nn

(2) Explain capital rationing.
(3) Explain the types of working capital.

(C) Answer the following : 3
(1)  What is net working capital ?
(2) State the formula for calculating average rate of retum.
(3) Explain “operating cycle’.
14

Attempt any two :

(A) (1) Z company issucs 10% debentures of 10 years maturity. The face value of
the debentures is T 100 and its issuc price 1s 2 94. The company pays ¥ 4
floatation costs. If the tax rate is 5()%, compute the cost of debentures.

price of T 10 equity shares 15 T S0,

The dividend rate grows at 8% per annum
he company. Calculate the cost of cquity

(2) The current market The expected

dividend tor the next year s T

1% tax rate is apphicable to 1
capital.

]
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‘B)  Eaplan the types of capital structure,
(01 Describe the dividend theory suggested by Modigliani and Miller.

D) The particulars of the firm A and B are given in the following table ;

Particulars Firm A P:r; B
- @ | ®
Sales 1.20.,000 | 1.20.000
Vanable cost 60,000 50.000
Operating fixed cost 20,000 30.000
Fived financing cost 5,000 6.000

Calculate degree of operating leverage, degree of financial leverage and degree of
combined leverage.

s Select the correct answer : 14
(1y In stage of evolution of financial management is includes quantitative
analysis.
(a) Tradinonal phase {b) Modern phase
(¢} Transitional phase (d) None of these

(2) A bond carries a specific interest rate called

(a) coupon rate (b) premium rate
(c) matunty rate (d) discount rate

(3) When the national stock exchange was established ?
(ay 1990 (b) 1993
(c) 1994 (d)y 1995

(4 __ is long term planning for making and financing proposed capital
outlay.
(a) Working capital (b) Capital budget
(c) Planning (d) Budgetary control

(5)  Ratio of current assets to current liabilities should be
(a) 1:2 (by 1:3
)y 2:1 (dy 2:2

NP-107 7 P.T.O.
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- HMITE 16 r
s the relation betweet! profitability and risk
1d ‘

(h) Inverse

(d) Al of these

(a) Absence of relation

(c) Positive _ '
onsidered in analysts of const of capital.

isc
(a) Long term capi tal (b) Short term capital
(c) (a)and (b) both (d) Only borrowed capital
In leverage condition of no profit — no loss is created.
(a) operating (b) financial

(c) break even operating (d) total

Financial securities contain

(a) equity and preference share  (b)  dehenture

(c) (a)and (b) both (d) None of these

According to Company Act, the dividend should be paid within days
after declaring it.

(a) 21 (h) 42

(c¢) 30 (d) None of these

Minimum proportion of the current assets is known as working
capital.

(a) permanent (b) regular

(c) special (d) seasonal

Net income approach is presented by

(a) Modigliani (h) David Durand

(c) Elli Swartz (d) Ezra Soloman

Accordingto ______ policy, percentage of working capital is kept less than its
requirements. b~
(a) Aggressive (b) Traditional
(¢) Inter-medintory (d)  None of these

Who gave the CAPM model 7

(a)  William Sharpe (b) William James

(¢) M.J. Gorden (d) Walter
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